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22. ก����	
�� ABC ����������������� �� AB = 2011 �����, BC = 2012 ����� ��  CA = 2013 
����� �"ก�� O �$�%$��"ก��&����'��'( ABC &��)*	 A �$�%$� BC &��)*	 D ,$	 AB ��  AC &��)*	 E 
��  F ,�����	$( EF ���ก�������

ตอบ 1,509 �����
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EF = 
2011

2012

×AE … (∗)
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ขั�นที� 2. �� AE
H	�&789�(&ก���$"4'")*	 (power of a point theorem) ��3�'=6)��5����)*	 B ����)*	<���'ก�"ก�� 
O ������ก BA >�,$	ก$(�"ก�� O &��)*	 E ก$( ��ก>��$�%$��"ก�� O &��)*	 D ) >	����

BD×BD = BE×BA
BD2 = (2011 − AE)×2011

2011 − AE = 
2011

BD
2

AE = 2011 − 
2011

BD
2

�&�2�� BD = 
2

2011

 )�ก4$M�&�� 1 ) >	����

AE = 2011 − 
4

2011

∴ AE = 
4

3

×2011

�&�2�� AE = 
4

3

×2011 �"
���ก�� (∗) ) >	����

EF = 
2011

2012

×AE = 
2011

2012

×
4

3

×2011 = 503×3 = 1509

การพสูิจน์ว่า AD  เป็นเส้นแบ่งครึ�งมุม A ของ ∆ ABC
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)�ก��� ) >	� ∆OEG ≅∆OGF �(( 	���−	���−�*�
(OG = OG 	�������, OE = OF �$I���"ก�� O, ∠OEG = ∠OFG �=��  ∆OEF �������
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